RREAARTEETENRANEGR
(MERREBISE 1 SIQBOVER
1. ENEENANE (1818180 B%

BEDELE 2 1 2E2 2T#E3 2E4 27T#ES
d”y HE= 735 807 885 958 1,030
ERBE= 629 702 778 851 923
ZR=E 629 702 778 851 923

2. RE (RIFSNER : 858D

NRaEs/F1 &E 300 M
NR&Es/F 2 &E 600 M
FA&IREE/EIEED 1,000 B
NA&IBER/FEIREO 1,300 B
LEEUHDTS 14458
3. WEE (RIRH : BEEN - NRERE  BED
NR&EsR/F 1 EE QAZy REE=) 8208 (kM@= 3208 (K= OH
NR&ESR/F 2K QAZy FEE=) 8208 (k@R 4208 (BK=) 370H
NRSBE/EI3EED, @ (QAZv FEE=) 1,310 0 (ERE=) 8208 (BARE) 370H
LEFUHDTS QAZy FEE=) 2506 0 (eRE=) 1,171 8 (ZKR=E) 855
4. BC&iBast
[BEDELE 2/T#E 1 2E2 2ME3 2ME4 2#ES
d-w FEYBZ/E 1 R 1,855 1,927 2,005 2,078 2,150
- v FEYBZ/E 2 BRI 2,155 2,227 2,305 2,378 2,450
d”v FEYER/E 3 ERIED 3,045 3117 3,195 3,268 3,340
- v FEYE=/E S ERMEO 3,345 3417 3,495 3,568 3,640
1= w REYEZ=/ E5e A 4,686 4,758 4,836 4,909 4,981
ERB=/E1 R 1,249 1,322 1,398 1,471 1,543
RERB=/55 2 208 1,649 1,722 1,798 1,871 1,943
ERE=/5 3 RO 2,449 2522 2,598 2,671 2,743
RERE=/5 3 BB 2,749 2,822 2,898 2,971 3,043
feR@B=/ L5090 3,245 3318 3,394 3467 3,639
ZRE/E1 R 929 1,002 1,078 1,151 1,223
ZRE/F 2 BIE 1,599 1,672 1,748 1,821 1,893
ZRE/$ 3 BED 1,999 2,072 2,148 2,221 2,293
ZRE/$ 3 REQ 2,299 2,372 2,448 2,521 2,593
ZR=/ E5cUON 2,929 3,002 3,078 3,151 3,223
(&1 : 3]

XU —EREHEAGNE (I/2°v H) 1 9B/B. U—EREHEFNE (I/RR : 7H/B
MELENENE [ MERFBELENENE (A=-y ~- [ /K- 1) SEFHNE ] : 5M/8. SFFHNET - 9M/8
FE. FDECHASNDBEICITREEMNE 1 1 958/@INEsNET.



